RESOLUTION NO. 36-04 CITY OF CENTERVILLE, OHIO

SPONSOR	ED BY COUNC	ILMEMBER .	Brooks a.	Compton	ON THE 184
		, 200		1	

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE L. J. DEWEESE COMPANY FOR THE BLACKLEAF COURT STREET IMPROVEMENTS, FOR THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, The City of Centerville advertised for bidders for the Blackleaf Court Street Improvements according to specifications prepared by the City, and

WHEREAS, The L. J. DeWeese Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by the L. J. DeWeese Company for the Blackleaf Court Street Improvements, for the total bid price of \$!21,628.00, be and is hereby accepted, a copy of which is attached hereto and incorporated herein, marked Exhibit "A".

Section 2. That the City Manager is hereby authorized to do all things necessary to execute a contract with the L. J. DeWeese Company, as stated above.

PASSED this 18th day of October, 2004.

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 36-04 passed by the Council of the City of Centerville, Ohio on the 184 day of October , 2004.

Clerk of Council

Approved as to form, consistency with Ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

UIN	LIFE	NICE SHEET		-	Pi	ROJECT NUME
PRO	JECT	NAME: BLACK LEAF COURT STREET IMPROVEMENTS-200	4			
OR	A MORI	F CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE I COMPLETE DESCRIPTION OF THE ITEMS LISTED, RETURN ONE (1) FILL WITH THE EXECUTED FORMS.	PART OF T	HIS PROPOSA PY OF PROPE	AL AND MAY BE RE RLY SIGNED PROPO	FERENCED ISAL
REF	NO.	DESCRIPTION	EST'D QUAN		UNIT PRICE	AMOUNT
	201	Clearing and Grubbing	Lump	Lump	12000	12.000
	202	Curb and Gutter Removed	1171	L.F.	5	5.855 -
A.	202	Driveway Removed-Concrete	2100	S.F.	1	2,100
	202	Sidewalk Removed	80	S.F.	3	240 -
	202	Curb Ramp Removed	40	S.F.	3	120
	252	Full Depth Rigid Pavement Removal & Flexible Replacement	250	SY	50	12500.
	253	Concrete Joint Milling & Repair	400	L.F.	20.	8000
	253_	Undercutting	10	C.Y.	5	50
	254	Pavement Planing, Bituminous with milled materials kept by Contractor	1520	SY	6	9120
	301	Asphalt Concrete Base, 6"	22	CY	150	3300 -
	448	Type 1, Asphalt Conc. Surface Course. PG64-22, Medium Traffic, 1.25" Th.	61	CY	115	7015 -
	448	Type I, Asphalt Conc. Inter. Course, PG64-22, Medium Traffic, 0.75" Th.	36	CY	115	1410 -
	452	Concrete Driveway, 6" Thick	2100	S.F.	10	12600
	452	Concrete Pavement, 7" Thick	250	S.Y.	30.	7500-
0 :	603	12" Storm Sewer (RCP, CL IV)	50	L.F.	5	250
	604	Catch Basin Replacement, Type A with Type ODOT 3A	2	EA	1500 -	3000
	605	Shallow Pipe Underdrain, 6"	1171	L.F.	1-	1171 -
4 5	608	4" Sidewalk	80	S.F.	5-	400 -
	609		40	S.F.	10	400 -
	609	Curb, ODOT Type 3	1171	L.F.	17-	19907
7.71	614	Maintenance of Traffic	1	L.S.	2000	2000
-	659	Seeding and Mulching, incl. 4" of topsoil	1300	SY	1	1300.
	0.000	SAMI (Type I)	1732	SY	5	8660 -
		GRAND TOTAL BASE BID				121,628-
	-					
146		52				

D. EXECUTION OF PROPOSAL
NOTE: Failure to sign proposal shall result in rejection of bid.
THIS PROPOSAL SUBMITTED BY: L.J. DWILDE CONTRACTOR)
(NAME OF CONTRACTOR)
BY: CARENDR
(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
925 A
DATE: 0G. 12, 2004
Contact person for Contract processing: Jim HMCh
Mailing address if different from above: